Learning Chinese: A Foundation Course in Mandarin Julian K. Wheatley, MIT

2.2 Second set

24 EE 5 2

3+13 5+0 6+0 3+7 12+5
" ‘i l} I [ LJ
> N\ }
3+5 3+3 4+5
xué shéng lao shi didn ér>r
study; school pupil old teacher point; bit  diminutive
* \ Y 4 %
Pix ¥ OHE [\ X
4+5 3+11 4+11 3+11 8+11
) FE :
X XE
3+2 842
zén me yang dui nan zhong wén
how interrogative kind; type correct; right difficult middle; script;
China g
Notes:

(a) A nonsense account of 2 goes: ‘a child looking at a blackboard on a stand;
the backboard has two x’s, each registered on both sides’. For & ‘be born; pupil’:

‘three horizontals represent the three stages of life — youth, maturity, old age, with
the first marked (with a pi€ stroke) as the time of education’.

(b) & (‘old’) is itself a radical (as indicated by the numerical designation, 6+0),
though one occurring in very few characters. Distinguish % from the left-hand
side of 4. For the graph, think: ‘elderly person taking a rest under an awning’. b
/U, with 7 “cloth’ (3 strokes) designated the radical: ‘teacher wearing a mortar-
board, standing before a podium covered by a cloth.” (The right-hand element of
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7/)F — the podium — has a clear top, unlike the graph 77 shi ‘market; city’,
which has an extra dot.)

¢)In 25, & is phonetic (cf. & dian ‘shop’) and the radical is £ hé&i ‘black’ (with
the 4 dots, a combining form of the fire-radical); hence ‘specks [of soot]” and ‘a
little bit’. %2, originally a picture of a child with a large head, appears in
compounds such as % F érzi ‘son’ and 4 % nii’ér ‘daughter’ and has a root
meaning of ‘child’. X is one source of the noun suffix -» (seen in words such as

yidianr).

d) & and Bf are members of a phonetic set based on the element % zha. j% is
simplified by letting a part of the original stand for the whole: % > Z. In the
traditional form, the lower right element has two slightly different variants: Jg
and /%. A nonsense account: ‘a shed ()7), 2 trees (#4), and a nose (4) sniffing
them to find out WHAT they are’. 4k yang consists of /K as radical (muzipang),
3 yéang (a phonetic element), and 7k yong. 4 may originally have referred to a
wooden mold or pattern, from which the meaning of ‘type; kind’ derived.

¢) In both #f > %} and #E > #, the complicated left hand elements are replaced
with the simple X (you). In #f , 4% (zhui) is assigned as radical; in 3, % is
radical, 4 is phonetic (cf. zhui / shui ~ shei). The left-hand side of % shows %
inserted through a flattened @.

f) X wén originally meant decoration (and was probably a drawing of a design);
later it came to mean written language, and is now often used for language in
general. The earlier meaning of ‘decoration’ is now represented by 4 wén (with
the silk radical added).

2.2.1 Compounds

FA 27 —2JL — B H—B A
xuéshéng laoshi yidianr yidiandian you yidian nan bu dui
i R RFAD? B =4 B X
Zhdngwén bt tai nan Shi xuéshéng ma?  zénmeyang san ge Riwén

=AGE RA KA TR A AR 2P 7 9

san ge nande méiyou niide nan bu nan dui bu dui Chén laosht nande



Learning Chinese: A Foundation Course in Mandarin

2.2.2 Set 1 in Fantizi

Julian K. Wheatley, MIT

P MR AR DR ARF? AR
Di-y1 ge shi shéi? xing Chén dou shi zhéiyang Xido Zhang, ni hao? dou shi
RE=/EY TR RBRM? KH. NEREZ.
Shi di-er ge ma? Bu shi. Shi shéi de? W6 de. Xido L1 hén lei.

Hong Kong: #/24 yao ‘medicine’ over a pharmacy.

Exercise 2

B MBS RkFAEAHSRA-EILER -

ot MR RFFA A EILE

2 ik RRFGEIT I ARRE R RIS
% ug Jedk g o R F WEIF S AERRE  TRAKRIFT o
S50 wdbbk o AP F ORI A REHIR -

%55 AR R FF A s RIREIFAIF A -

% Ak o 2 FFA 3 5 RA SIUK » TELRE -

AN WeAEE 0 b s R EIF o IE R R4k AR o
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L0 Rk s B 4G s PXHEF o % _EHE o
F4 kR df) o FP L PURKE -
Questions

1. RE DA% F 4g 0 *g 0

2. MEMRTAFE?

3. WG A LT AT 7
4. JERAG R F A ENF o KD 7
5. G A RRE » G ?

6. ARGy & EHET o XD 7
7. D4 RE LY

8. 5K ATEIPAR » X ?
9. JETRAG A4 RE 2 7

10. A FA - ERAHE)F?

11 M GY 2 T 9% &by 7
12 0 ZIRTAHA G 7

4 5 shéngzi ‘vocabulary (raw-characters)’

2 0oy xing M3 de [rén] ‘the one named Ma’ 5 ¥4k 49, etc.

N xidoxué ‘elementary school’
o zhongxué ‘high school’

X F daxué ‘university’

% H shéngri ‘birthday’

TR haishi ‘or’ [with choice questions]
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2.3 Third set

= 5& 4@1 W,

10+0
” 'J’Jﬁ /]\ N
6+4 3+4 2+1
gao Jjin zhang ge xian zai
tall tight spread individual manifest now

AR A OAE

1+6 3+4 2+2
qi lai kan bao yi qian
rise come look report [take] before; front
g =2 HR 9
c—
2+5 3+2 3+4/2+4 3+7/3+6 7+0
dan ' na; néi na; néi zou
but able that which walk; leave; go

a) & gao, used as a surname, but also a SV ‘tall’; think of the graph as
representing ‘a tall structure (with a flat roof and a chimney)’.
b) % 7k/ % 7k. Recall the radicals: % the silk radical (twisted); and 3,

representing a bow (under tension). Both suggest ‘tension or anxiety’.
¢) /I, the simplified version of 1@, is an old handwriting form elevated to formal

status in the new simplified set.

10
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d) 3 (like ¥t and many other graphs) contains the element E as radical. Though
the element is virtually identical with the surname £ Wang (‘king’), it actually
derives from the combining form of a different character: £ yu ‘jade’ (found
intact in the simplified [E gud ‘country’). So traditionally, the radical is called
yuzipang ‘jade character at the side’; but on the Mainland at least, it is also called
wangzipang ‘king on the side’.

¢) A2 contains 7 as radical and @ ji, as phonetic; cf. graphs such as #2 and A%
which are formed along the same lines. 2k, originally a drawing of a kind of
cereal grain, cf. 4+ mai ‘wheat’, which is now differentiated from & by the lower
radical element. The meaning of ‘come’ may represent a metaphorical extension
(grain > sprouting > coming out); or the graph may have been borrowed to
represent a near homophone.

f) & contains § ‘hand’ and B ‘eye’ (both of whose earlier forms suggest
drawings); hence ‘hand over the eyes, looking’. ##/4k bao ‘report; newspaper’,
with the right-hand component looking like ‘a comfortable armchair where you
might read the paper’. (Note the vertical symmetry of the left-hand side of the
traditional graph, %£.)

g) ¥4 yi has A as its radical. In the modern language, the syllable is a common
‘bound form’, occurring in words such as * ¥X kéyi ‘can’ and Pf ¥4 sudyi ‘so’;
but in the classical language, it appears as a verb with the meaning of ‘take’. So
VAAT ‘formerly’ is literally ‘take as before’. In the simplified set, V£ is written
with 4 strokes (2+2) rather than 5.

) A% na ‘that’, with you’érdud ‘right-ear’ (or you’érpang) assigned as radical (cf.
#). 9k nd, the question word, has kOuzipang as its radical.

2.3.1 Compounds

p = 145 Bk {2 2% 7Bk T
bu gao xing Gao hén jinzhang danshi bu jinzhang késhi
VAR I AL T EA HIR Ak
yiqian xianzai Zai nar? san gé kanbao qilai
WATAT. a7 BLREKR? AL %% )T A
Tamen zdu le. yijing zou le Jin bu jinzhang? z3i zhér Chén laoshi jit gé

11
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2.3.2 Set 2 in fantizi

# b B EBtk 2FX

laosht xuéshéng zénmeyang xué Zhongwén

H—ERR AR R k& P

you yidianr léi y¢& hén léi Zhang laoshi

T K ¥ %8 IR F- B X

bu tai nan nande néi nian Riwén
Exercise 3

Julian K. Wheatley, MIT

AR AR H

dou hén nan
~ 1E
3&*)]‘

zhéi yang

4 H

shéngri

ARHk

neéi yang

T o

bu dui

£x

lao Wang

Answer the questions at the end, taking your cue from the information given in the ‘chart’
below. Note that the chart takes the form of lists: ‘3 students: 1 male, 2 female’. The
questions (like your responses) have the form of sentences: ‘The students are all female,

right?’

N
X

X

~
ki

|

AR R » 2RI AATFT o

>
d

fn

HITEETIET -

>
g

v — P XFE - RALIF
bR IR E o

55 VAN o AR 5
A AR EITAGF A o

. BAFE A BAE)F 5

FAMRETR - EIFRAC o

12

EAFA  —AF o Ay s
AN AR T » TALTKHAS KGR ©
—ANF s —AEIF > AR F Y 3

AAENF > =4SP LT > =48 LT
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i —AFE o —Akd s
HagARR TERCRR 5 kdgeaAx T o
ERS A A s — AN s = AT
— A MIT 49 » —A~F A% o
FU: AANFA S AR A
PIR G IRRIR » TR F 49T
f+: FAFA - HAKEFGFL
TR IFEYF A RIS -
Questions
L FA 0 FA s BIFARERD ?

2. BIA AT RAR R

3. HEAN ABAETF AP LD 2 ANTTFIETRA ?
4. HAA A BT

5, FUIA > FP L BALITF 0 T T

6.  HHA A FAARMCHRE ?

7. BRA AW FAE 2

S B FAARL A7 ARORAT LRI
49 A AR T
0. FEA MNEATHEAT D LEERT -

10, FHAUA BRI R F AR IR TR » 2 HIT > 2D 2

13
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